

Precise asymptotics for complete moment convergence in Hilbert spaces

KEANG FU and JUAN CHEN

School of Statistics and Mathematics, Zhejiang Gongshang University,
 Hangzhou 310018, China
 E-mail: fukeang@hotmail.com; hzchj930@yahoo.com.cn

MS received 5 August 2010; revised 23 November 2010

Abstract. Let $\{X, X_n; n \geq 1\}$ be a sequence of i.i.d. random variables taking values in a real separable Hilbert space $(\mathbf{H}, \|\cdot\|)$ with covariance operator Σ . Set $S_n = \sum_{i=1}^n X_i$, $n \geq 1$. We prove that for $1 < p < 2$ and $r > 1 + p/2$,

$$\begin{aligned} \lim_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \sigma \varepsilon n^{1/p}\}_+ \\ = \sigma^{-(2r-2-p)/(2-p)} \frac{p(2-p)}{(r-p)(2r-p-2)} \mathbf{E}\|Y\|^{2(r-p)/(2-p)}, \end{aligned}$$

where Y is a Gaussian random variable taking value in a real separable Hilbert space with mean zero and covariance operator Σ , and σ^2 is the largest eigenvalue of Σ .

Keywords. Complete convergence; complete moment convergence; convergence rates; Hilbert spaces; precise asymptotics.

1. Introduction and main result

Let $\{X, X_n; n \geq 1\}$ be a sequence of independent and identically distributed (i.i.d.) real-valued random variables and $S_n = \sum_{k=1}^n X_k$, for $n \geq 1$. The famous complete convergence exhibits that for $0 < p < 2$ and $r \geq p$,

$$\sum_{n=1}^{\infty} n^{r/p-2} \mathbf{P}(|S_n| \geq \varepsilon n^{1/p}) < \infty, \quad \forall \varepsilon > 0,$$

if and only if $\mathbf{E}|X|^r < \infty$ and when $r \geq 1$, $\mathbf{E}X = 0$. For $r = 2$, $p = 1$, the sufficiency was proved by Hsu and Robbins [10], and the necessity by Erdős [6,7]. For the case $r = p = 1$, we refer to Spitzer [16], and for the general result to Baum and Katz [2].

Also Chow [4] first discussed the complete moment convergence of i.i.d. random variables, and got the following result.

Theorem A. Suppose that $\mathbf{E}X = 0$. For $1 \leq p < 2$ and $r > p$, if $\mathbf{E}(|X_1|^r + |X_1| \log(1 + |X_1|)) < \infty$, then for any $\varepsilon > 0$,

$$\sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{|S_n| - \varepsilon n^{1/p}\}_+ < \infty,$$

where $\{x\}_+ = x \vee 0$.

Observing that

$$\begin{aligned} & \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{|S_n| - \varepsilon n^{1/p}\}_+ \\ &= \sum_{n=1}^{\infty} n^{r/p-2} \int_0^{\infty} \mathbf{P}(|S_n| \geq (\varepsilon + x)n^{1/p}) dx \\ &= \int_0^{\infty} \sum_{n=1}^{\infty} n^{r/p-2} \mathbf{P}(|S_n| \geq (\varepsilon + x)n^{1/p}) dx < \infty, \end{aligned}$$

we can conclude the complete convergence from the complete moment convergence immediately. Due to its interest, Theorem A was generalized to many other cases. For example, Li and Zhang [13] investigated the complete moment convergence for partial sums of moving average processes with negatively associated and mixing innovations. Chen [3], Wang and Su [14] and Wang *et al.* [15] studied the complete moment convergence in Banach spaces. Further, the exact convergence rates of the complete moment convergence have also been studied, and one can refer to Jiang and Zhang [11] and Li [12] for details.

Recently, Huang and Zhang [8] obtained the precise rates in the law of the logarithm for Hilbert-space valued random variables. Inspired by them, in this paper we aim to study the precise asymptotics for complete moment convergence in Hilbert spaces setting. In what follows, let $\{X, X_n; n \geq 1\}$ be a sequence of i.i.d. random variables which take values in a real separable Hilbert space $(\mathbf{H}, \|\cdot\|)$ with mean zero and covariance Σ unless it is specially mentioned. Denote the largest eigenvalue of Σ by σ^2 , i.e. $\sigma^2 = \sup\{\mathbf{E}[(X, y)^2] : \|y\| \leq 1\}$, where (\cdot, \cdot) denotes the scalar product in \mathbf{H} . Let l be the dimension of the corresponding eigenspace, and let $\sigma_i^2, 1 \leq i \leq l'$ be the positive eigenvalues of Σ arranged in a nonincreasing order and take into account the multiplicities. Further, if $l' < \infty$, put $\sigma_i^2 = 0, i \geq l'$. Note that we always have $\sigma_i^2 = \sigma^2, 1 \leq i \leq l$ and $\sigma_i^2 < \sigma^2, i > l$ [5]. Now we are in a position to state our main result.

Theorem 1.1. Suppose that $\mathbf{E}X = 0$ and $\mathbf{E}\|X\|^3 < \infty$. Then for $1 < p < 2$ and $r > 1 + p/2$, we have that $\mathbf{E}\|X\|^r < \infty$ implies

$$\begin{aligned} & \lim_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \sigma \varepsilon n^{1/p}\}_+ \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{p(2-p)}{(r-p)(2r-p-2)} \mathbf{E}\|Y\|^{2(r-p)/(2-p)}, \end{aligned}$$

where Y is a Gaussian random variable taking value in a real separable Hilbert space with mean zero and covariance operator Σ .

It is noted that in Theorem 1.1, the precise rate of moment convergence is derived, which extends the result of Jiang and Zhang [11] to the Hilbert space setting. As for the moment complete convergence, it has been studied extensively by many researchers since Chow [4]. Among them, Wang *et al.* [15] obtained the moment complete convergence in Banach spaces of Type 2 (including the Hilbert spaces), and thus our result can be viewed as a generalization of their moment convergence. In fact, from Theorem 1.1, we can conclude the following complete moment convergence and complete convergence for S_n readily, which exhibit that the precise moment convergence rate implies the complete convergence and moment complete convergence.

COROLLARY 1.1

Under the assumptions of Theorem 1.1, then for $1 < p < 2$, $r > 1 + p/2$ and any $\varepsilon > 0$, we have

$$\sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \sigma \varepsilon n^{1/p}\}_+ < \infty$$

and

$$\sum_{n=1}^{\infty} n^{r/p-2} \mathbf{P}\{\|S_n\| \geq \sigma \varepsilon n^{1/p}\} < \infty.$$

2. Proofs

In this section, we shall show the validity of Theorem 1.1. In the sequel, let Y be a non-degenerate Gaussian random variable with mean zero and covariance Σ . Let C denote positive constants whose values can differ in different places and $a_n \sim b_n$ means that $a_n/b_n \rightarrow 1$ as $n \rightarrow \infty$. We first proceed with an important lemma, which, in fact, can be viewed as the convergence rates of partial sums to the Gaussian random variables.

Lemma 2.1 [5]. Let $\xi_1, \xi_2, \dots, \xi_n$ be independent \mathbf{H} -valued random variables with $\mathbf{E}\xi_i = 0$ and $\mathbf{E}[\|\xi_i\|^3] < \infty$, and let Y_1, Y_2, \dots, Y_n be independent Gaussian mean zero random variables with $\mathbf{Cov}(\xi_i) = \mathbf{Cov}(Y_i)$, $i = 1, 2, \dots, n$. Here $\mathbf{Cov}(\xi_i)$ denotes the covariance operator of a \mathbf{H} -valued random variable. Then we have that, for any $s, t > 0$,

$$\mathbf{P}\left\{\left\|\sum_{i=1}^n \xi_i\right\| \geq s\right\} \leq \mathbf{P}\left\{\left\|\sum_{i=1}^n Y_i\right\| \geq s - t\right\} + Ct^{-3} \sum_{i=1}^n \mathbf{E}[\|\xi_i\|^3] \quad (2.1)$$

and

$$\mathbf{P}\left\{\left\|\sum_{i=1}^n \xi_i\right\| \geq s\right\} \geq \mathbf{P}\left\{\left\|\sum_{i=1}^n Y_i\right\| \geq s + t\right\} - Ct^{-3} \sum_{i=1}^n \mathbf{E}[\|\xi_i\|^3], \quad (2.2)$$

where C is a universal constant.

Now we start to introduce some Propositions, and the proof of our main result is based on them.

PROPOSITION 2.1

For $1 < p < 2$ and $r > 1 + p/2$, we have

$$\begin{aligned} & \lim_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \mathbf{E}\{\|Y\| - \sigma \varepsilon n^{1/p-1/2}\}_+ \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{p(2-p)}{(r-p)(2r-p-2)} \mathbf{E}\|Y\|^{2(r-p)/(2-p)}. \end{aligned}$$

Proof. Note that

$$\begin{aligned} & \lim_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \mathbf{E}\{\|Y\| - \sigma \varepsilon n^{1/p-1/2}\}_+ \\ &= \lim_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \int_{\sigma \varepsilon n^{1/p-1/2}}^{\infty} \mathbf{P}(\|Y\| \geq x) dx \\ &= \lim_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \int_1^{\infty} y^{r/p-3/2-1/p} \int_{\sigma \varepsilon y^{1/p-1/2}}^{\infty} \mathbf{P}(\|Y\| \geq x) dx dy \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{2p}{2-p} \lim_{\varepsilon \searrow 0} \int_{\sigma \varepsilon}^{\infty} t^{2(r-2)/(2-p)} \int_t^{\infty} \mathbf{P}(\|Y\| \geq x) dx dt \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{2p}{2-p} \lim_{\varepsilon \searrow 0} \int_{\sigma \varepsilon}^{\infty} \mathbf{P}(\|Y\| \geq x) \int_{\sigma \varepsilon}^x t^{2(r-2)/(2-p)} dt dx \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{2p}{2-p} \left(\frac{2(r-2)}{2-p} + 1 \right)^{-1} \\ & \quad \times \lim_{\varepsilon \searrow 0} \int_{\sigma \varepsilon}^{\infty} \mathbf{P}(\|Y\| \geq x) x^{2(r-2)/(2-p)+1} dx \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{2p}{2r-2-p} \lim_{\varepsilon \searrow 0} \int_{\sigma \varepsilon}^{\infty} \mathbf{P}(\|Y\| \geq x) x^{2(r-2)/(2-p)+1} dx \\ &= \sigma^{-(2r-2-p)/(2-p)} \frac{p(2-p)}{(r-p)(2r-2-p)} \mathbf{E}\|Y\|^{2(r-p)/(2-p)}. \end{aligned}$$

Thus the Proposition is proved. \square

Without loss of generality, we assume that $\sigma = 1$ in the sequel. For each $n \geq 1$, $1 \leq i \leq n$, we define that

$$X'_{ni} = X_i I(\|X_i\| \leq n^{1/p}), \quad \bar{X}'_{ni} = X'_{ni} - \mathbf{E}[X'_{ni}],$$

and

$$S'_{nj} = \sum_{i=1}^j X'_{nj}, \quad \bar{S}'_{nj} = \sum_{i=1}^j \bar{X}'_{nj},$$

where $1 < p < 2$. Let $\{Y_{ni}, 1 \leq i \leq n\}$ be a sequence of independent \mathbf{H} -valued Gaussian random variables with mean zero and covariance operator $\mathbf{Cov}(Y_{ni}) = \mathbf{Cov}(\bar{X}'_{ni}) := \Sigma_n, 1 \leq i \leq n$.

PROPOSITION 2.2

Denote $\beta_n = O((\log n)^{-\delta})$ for some $\delta > 0$. For $1 < p < 2, r > 1 + p/2$ and $2 < q < 2p/(r-1)$, if $\mathbf{E}\|X\|^3 < \infty$ and $\mathbf{E}\|X\|^r < \infty$, then

$$\begin{aligned} & n^{-1/2} \mathbf{E}\{\|\bar{S}'_{nn}\| - \varepsilon n^{1/p}\}_+ \\ & \leq \frac{1}{1-\beta_n} \mathbf{E}\{\|Y\| - \varepsilon n^{1/p-1/2} - (1-\beta_n)n^{1/q-1/2}\}_+ + I_n, \end{aligned} \quad (2.3)$$

and when $l < \infty$,

$$\begin{aligned} & n^{-1/2} \mathbf{E}\{\|\bar{S}'_{nn}\| - \varepsilon n^{1/p}\}_+ \\ & \geq \frac{1}{\gamma_n(1+\beta_n)} \mathbf{E}\{\|Y\| - \varepsilon n^{1/p-1/2}\gamma_n - \gamma_n(1+\beta_n)n^{1/q-1/2}\}_+ - I_n, \end{aligned} \quad (2.4)$$

where

$$\gamma_n := \|(\Sigma_n^{1/2}\Sigma^{-1/2})^{-1}\| = \sup_{y \neq 0} \frac{\|(\Sigma_n^{1/2}\Sigma^{-1/2})^{-1}y\|}{\|y\|}$$

and

$$I_n \geq 0 \text{ satisfies } \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} I_n < \infty.$$

Proof. Observe that

$$\begin{aligned} n^{-1/2} \mathbf{E}\{\|\bar{S}'_{nn}\| - \varepsilon n^{1/p}\}_+ &= n^{-1/2} \int_0^{n^{1/q}} \mathbf{P}(\|\bar{S}'_{nn}\| \geq \varepsilon n^{1/p} + y) dy \\ &+ n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}(\|\bar{S}'_{nn}\| \geq \varepsilon n^{1/p} + y) dy. \end{aligned}$$

Set $I_{n1} := n^{-1/2} \int_0^{n^{1/q}} \mathbf{P}(\|\bar{S}'_{nn}\| \geq \varepsilon n^{1/p} + y) dy$. Since $r > p$ and $q > p$, which are deduced from the fact that $1 < p < 2, r > 1 + p/2$ and $2 < q < 2p/(r-1)$, by virtue of the traditional complete convergence in Hilbert spaces, we have that $\mathbf{E}\|X\|^r < \infty$ implies

$$\begin{aligned} \sum_{n=1}^{\infty} n^{r/p-2-1/p+1/2} I_{n1} &\leq \sum_{n=1}^{\infty} n^{r/p-2-1/p+1/q} \mathbf{P}(\|\bar{S}'_{nn}\| \geq \varepsilon n^{1/p}) \\ &\leq \sum_{n=1}^{\infty} n^{r/p-2} \mathbf{P}(\|S_n\| \geq \varepsilon n^{1/p}) < \infty. \end{aligned}$$

Also from Lemma 2.1, it follows that there exists a constant C and a sequence of independent \mathbf{H} -valued Gaussian mean zero random variables $\{Y_{ni}, 1 \leq i \leq n\}$ with

$\text{Cov}(Y_{ni}) = \text{Cov}(\bar{X}'_{ni}) = \Sigma_n$, $1 \leq i \leq n$, such that

$$\begin{aligned} & n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}(\|\bar{S}'_{nn}\| \geq \varepsilon n^{1/p} + y) dy \\ & \leq n^{-1/2} \int_{n^{1/q}}^{\infty} \left(\mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq \varepsilon n^{1/p} + y - \beta_n y\right) dy + C(\beta_n y)^{-3} \sum_{i=1}^n \mathbf{E}\|\bar{X}'_{ni}\|^3 \right) dy \end{aligned}$$

and

$$\begin{aligned} & n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}(\|\bar{S}'_{nn}\| \geq \varepsilon n^{1/p} + y) dy \\ & \geq n^{-1/2} \int_{n^{1/q}}^{\infty} \left(\mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq \varepsilon n^{1/p} + y + \beta_n y\right) dy - C(\beta_n y)^{-3} \sum_{i=1}^n \mathbf{E}\|\bar{X}'_{ni}\|^3 \right) dy. \end{aligned}$$

Define

$$\Lambda_{n1} := n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq \varepsilon n^{1/p} + y - \beta_n y\right) dy,$$

$$\Lambda_{n2} := n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq \varepsilon n^{1/p} + y + \beta_n y\right) dy$$

and

$$I_{n2} := n^{-1/2} \int_{n^{1/q}}^{\infty} C(\beta_n y)^{-3} \sum_{i=1}^n \mathbf{E}\|\bar{X}'_{ni}\|^3 dy. \quad (2.5)$$

Recall that $2 < q < 2p/(r-1)$, and then we have

$$\begin{aligned} & \sum_{n=1}^{\infty} n^{r/p-2-1/p+1/2} I_{n2} \\ & = C \sum_{n=1}^{\infty} n^{r/p-2-1/p} \beta_n^{-3} \int_{n^{1/q}}^{\infty} y^{-3} \sum_{i=1}^n \mathbf{E}\|\bar{X}'_{ni}\|^3 dy \\ & \leq C \sum_{n=1}^{\infty} n^{r/p-1-1/p-2/q} (\log n)^{3\delta} \mathbf{E}\|X\|^3 I(\|X\| \leq n^{1/p}) \\ & \leq C \sum_{n=1}^{\infty} n^{r/p-1-1/p-2/q} (\log n)^{3\delta} \sum_{j=1}^n \mathbf{E}\|X\|^3 I((j-1)^{1/p} < \|X\| \leq j^{1/p}) \\ & \leq C \sum_{j=1}^{\infty} \mathbf{E}\|X\|^3 I((j-1)^{1/p} < \|X\| \leq j^{1/p}) \sum_{n=j}^{\infty} n^{r/p-1-1/p-2/q} (\log n)^{3\delta} \\ & \leq C \sum_{j=1}^{\infty} \mathbf{E}\|X\|^3 I((j-1)^{1/p} < \|X\| \leq j^{1/p}) j^{(r-1)/p-2/q} (\log j)^{3\delta} \\ & \leq C \mathbf{E}\|X\|^3 < \infty. \end{aligned}$$

Denote $I_n = I_{n1} + I_{n2}$. Thus, by the above discussion, it follows that

$$\Lambda_{n2} - I_n \leq n^{-1/2} \mathbf{E}\{\|\tilde{S}'_{nn}\| - \varepsilon n^{1/p}\}_+ \leq \Lambda_{n1} + I_n, \quad (2.6)$$

where I_n satisfies

$$\sum_{n=1}^{\infty} n^{r/p-2-1/p+1/2} I_n = \sum_{n=1}^{\infty} n^{r/p-2-1/p+1/2} (I_{n1} + I_{n2}) < \infty.$$

Now by applying Corollary 3 of [1], we have that for any $x \in \mathbb{R}$,

$$\mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \leq x\right) \geq \mathbf{P}(\|Y\| \leq x/\sqrt{n}), \quad n \geq 1.$$

This of course provides

$$\begin{aligned} \Lambda_{n1} &= n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq \varepsilon n^{1/p} + y - \beta_n y\right) dy \\ &\leq n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}\left(\|Y\| \geq \varepsilon n^{1/p-1/2} + \frac{1-\beta_n}{\sqrt{n}} y\right) dy \\ &= \frac{1}{1-\beta_n} \int_{(1-\beta_n)n^{1/q-1/2}}^{\infty} \mathbf{P}(\|Y\| \geq \varepsilon n^{1/p-1/2} + t) dt \\ &= \frac{1}{1-\beta_n} \mathbf{E}\{\|Y\| - \varepsilon n^{1/p-1/2} - (1-\beta_n)n^{1/q-1/2}\}_+. \end{aligned} \quad (2.7)$$

For $l < \infty$, notice that Σ^{-1} exists since its eigenvalues are positive, and also $\Sigma_n \rightarrow \Sigma$, as $n \nearrow \infty$. Thus we also assume that Σ_n^{-1} exists for all $n \geq 1$, and then we have that

$$\begin{aligned} \|Y\| &= \|(\Sigma_n^{1/2} \Sigma^{-1/2})^{-1} (\Sigma_n^{1/2} \Sigma^{-1/2}) Y\| \\ &\leq \|(\Sigma_n^{1/2} \Sigma^{-1/2})^{-1}\| \cdot \|\Sigma_n^{1/2} \Sigma^{-1/2} Y\| := \gamma_n \|\Sigma_n^{1/2} \Sigma^{-1/2} Y\|, \end{aligned}$$

and for any $x > 0$,

$$\begin{aligned} \mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq x\sqrt{n}\right) &= \mathbf{P}(\|Y_{ni}\| \geq x) \\ &= \mathbf{P}(\|\Sigma_n^{1/2} \Sigma^{-1/2} Y\| \geq x) \geq \mathbf{P}(\|Y\| \geq x\gamma_n), \end{aligned}$$

which leads to

$$\begin{aligned} \Lambda_{n2} &= n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}\left(\left\|\sum_{i=1}^n Y_{ni}\right\| \geq \varepsilon n^{1/p} + y + \beta_n y\right) dy \\ &\geq n^{-1/2} \int_{n^{1/q}}^{\infty} \mathbf{P}\left(\|Y\| \geq \varepsilon \gamma_n n^{1/p-1/2} + \frac{1+\beta_n}{\sqrt{n}} y\right) dy \\ &= \frac{1}{(1+\beta_n)\gamma_n} \int_{(1+\beta_n)\gamma_n n^{1/q-1/2}}^{\infty} \mathbf{P}(\|Y\| > \varepsilon \gamma_n n^{1/p-1/2} + t) dt \\ &= \frac{1}{(1+\beta_n)\gamma_n} \mathbf{E}\{\|Y\| - \varepsilon \gamma_n n^{1/p-1/2} - (1+\beta_n)\gamma_n n^{1/q-1/2}\}_+. \end{aligned} \quad (2.8)$$

Combining (2.6)–(2.8), the conclusion follows, as desired, and the proof of Proposition 2.2 is complete. \square

PROPOSITION 2.3

For $1 < p < 2$ and $r > 1 + p/2$, we have that $\mathbf{E}\|X\|^r < \infty$ implies

$$\sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\|X\| I(\|X\| > n^{1/p}) < \infty. \quad (2.9)$$

Proof.

$$\begin{aligned} & \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\|X\| I(\|X\| > n^{1/p}) \\ &= \sum_{n=1}^{\infty} n^{r/p-2-1/p} \sum_{j=1}^n \mathbf{E}\|X\| I(j^{1/p} < \|X\| \leq (j+1)^{1/p}) \\ &= \sum_{j=1}^{\infty} \mathbf{E}\|X\| I(j^{1/p} < \|X\| \leq (j+1)^{1/p}) \sum_{n=1}^j n^{r/p-2-1/p} \\ &\leq C \sum_{j=1}^{\infty} \mathbf{E}\|X\| I(j^{1/p} < \|X\| \leq (j+1)^{1/p}) j^{r/p-1-1/p} \\ &\leq C \mathbf{E}\|X\|^r < \infty, \end{aligned}$$

which means the Proposition holds true. \square

Proof of Theorem 1.1. Write

$$II_n := n^{-1/2} \mathbf{E} \left\| \sum_{i=1}^n X_i I(\|X_i\| > n^{1/p}) \right\| \leq n^{1/2} \mathbf{E}\|X\| I(\|X\| > n^{1/p}).$$

Since $\{X, X_n; n \geq 1\}$ is a sequence of i.i.d. random variables with mean zero, we can obtain that

$$\begin{aligned} & n^{-1/2} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\ &= n^{-1/2} \mathbf{E} \left\{ \left\| \bar{S}'_{nn} - \sum_{i=1}^n \mathbf{E} X_i I(\|X_i\| > n^{1/p}) \right. \right. \\ & \quad \left. \left. + \sum_{i=1}^n X_i I(\|X_i\| > n^{1/p}) \right\| - \varepsilon n^{1/p} \right\}_+ \end{aligned}$$

and

$$\begin{aligned} & n^{-1/2} \mathbf{E}\{\|\bar{S}'_{nn}\| - \varepsilon n^{1/p}\}_+ - 2II_n \\ & \leq n^{-1/2} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\ & \leq n^{-1/2} \mathbf{E}\{\|\bar{S}'_{nn}\| - \varepsilon n^{1/p}\}_+ + 2II_n. \end{aligned}$$

Then it follows from Proposition 2.2 that

$$\begin{aligned} n^{-1/2} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\ \leq \frac{1}{1 - \beta_n} \mathbf{E}\{\|Y\| - \varepsilon n^{1/p-1/2} - (1 - \beta_n)n^{1/q-1/2}\}_+ + I_n + 2II_n, \end{aligned} \quad (2.10)$$

and when $l < \infty$, we have

$$\begin{aligned} n^{-1/2} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\ \geq \frac{1}{\gamma_n(1 + \beta_n)} \mathbf{E}\{\|Y\| - \gamma_n \varepsilon n^{1/p-1/2} - \gamma_n(1 + \beta_n)n^{1/q-1/2}\}_+ - I_n - 2II_n, \end{aligned} \quad (2.11)$$

where $\beta_n = O((\log n)^{-\delta})$, $\delta > 0$, and I_n, II_n satisfy that

$$\sum_{n=1}^{\infty} n^{r/p-2-1/p} I_n < \infty$$

and

$$\sum_{n=1}^{\infty} n^{r/p-2-1/p} II_n \leq \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\|X\| I(\|X\| > n^{1/p}) < \infty.$$

Therefore, we get

$$\begin{aligned} \limsup_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\ \leq \limsup_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \frac{1}{1 - \beta_n} \\ \times \mathbf{E}\{\|Y\| - \varepsilon n^{1/p-1/2} - (1 - \beta_n)n^{1/q-1/2}\}_+ \\ = \limsup_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \frac{1}{1 - \beta_n} \\ \times \mathbf{E}\{\|Y\| - (\varepsilon + (1 - \beta_n)n^{1/q-1/p})n^{1/p-1/2}\}_+. \end{aligned}$$

By virtue of $\beta_n \rightarrow 0$ and $(1 - \beta_n)n^{1/q-1/p} \rightarrow 0$ as $n \rightarrow \infty$, since $q > p$, fixing $1 < \theta_1 < 2$ and $0 < \theta_2 < 1$, we have for n large enough and any $\varepsilon > 0$,

$$\begin{aligned} \frac{1}{1 - \beta_n} \mathbf{E}\{\|Y\| - (\varepsilon + (1 - \beta_n)n^{1/q-1/p})n^{1/p-1/2}\}_+ \\ \leq \theta_1 \mathbf{E}\{\|Y\| - \theta_2 \varepsilon n^{1/p-1/2}\}_+. \end{aligned}$$

This entails

$$\begin{aligned} \limsup_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\ = \theta_1 \theta_2^{-(2r-2-p)/(2-p)} \frac{p(2-p)}{(r-p)(2r-p-2)} \mathbf{E}\|Y\|^{2(r-p)/(2-p)}, \end{aligned}$$

and then by letting $\theta_1 \searrow 1$ and $\theta_2 \nearrow 1$, the upper bound follows, as desired.

Now, we consider the lower bound when $l' < \infty$. Notice that $\beta_n \rightarrow 0$, $\gamma_n \rightarrow 1$ and $(1 + \beta_n)n^{1/q-1/p} \rightarrow 0$ as $n \rightarrow \infty$, since $q > p$. Then as above, we obtain

$$\begin{aligned}
& \liminf_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\
& \geq \liminf_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \\
& \quad \times \mathbf{E}\{\|Y\| - \gamma_n \varepsilon n^{1/p-1/2} - \gamma_n(1 + \beta_n)n^{1/q-1/2}\}_+ \\
& = \liminf_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \frac{1}{\gamma_n(1 + \beta_n)} \\
& \quad \times \mathbf{E}\{\|Y\| - (\gamma_n \varepsilon + \gamma_n(1 + \beta_n)n^{1/q-1/p})n^{1/p}\}_+ \\
& = \liminf_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-3/2-1/p} \\
& \quad \times \mathbf{E}\{\|Y\| - \varepsilon n^{1/p}\}_+ \\
& = \frac{p(2-p)}{(r-p)(2r-p-2)} \mathbf{E}\|Y\|^{2(r-p)/(2-p)}.
\end{aligned}$$

Next we consider the infinite case. Assume $l' = \infty$. For any $l'' \geq l$, let $Q : \mathbf{H} \rightarrow \mathbf{H}$ be the mapping onto the l'' -dimensional engenspace of σ_i^2 , $i = 1, \dots, l''$, i.e. $Q(y) = \sum_{i=1}^{l''} (y, e_i)e_i$, $y \in \mathbf{H}$. Since $\|Q(y)\| \leq \|y\|$, $y \in \mathbf{H}$, from the special case above, it leads to

$$\begin{aligned}
& \liminf_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|S_n\| - \varepsilon n^{1/p}\}_+ \\
& \geq \liminf_{\varepsilon \searrow 0} \varepsilon^{(2r-p-2)/(2-p)} \sum_{n=1}^{\infty} n^{r/p-2-1/p} \mathbf{E}\{\|Q(S_n)\| - \varepsilon n^{1/p}\}_+ \\
& \geq \frac{p(2-p)}{(r-p)(2r-p-2)} \mathbf{E}\|Q(Y)\|^{2(r-p)/(2-p)}.
\end{aligned}$$

By letting $l'' \rightarrow \infty$, we then complete the proof of Theorem 1.1. \square

Acknowledgement

This project was supported by the National Natural Science Foundation of China (Nos 10901138, 11126316 and 11101364), Natural Science Foundation of Zhejiang Province (Nos Y6100663, Y6110110 and Q12A010066) and Department of Education of Zhejiang Province (Nos Y201119891 and Z201120441).

References

- [1] Anderson T W, The integral of a summetric unimodal function over a symmetric convex set and some probability inequalities, *Proc. Am. Math. Soc.* **6** (1955) 170–176
- [2] Baum L E and Katz M, Convergence rates in the law of large numbers, *Trans. Am. Math. Soc.* **120** (1965) 108–123

- [3] Chen P Y, Complete moment convergence for sequences of independent random elements in Banach spaces, *Stoch. Anal. Appl.* **24** (2006) 999–1010
- [4] Chow Y S, On the rate of moment convergence of sample sums and extremes, *Bull. Inst. Math Academic Sinica* **16** (1988) 177–201
- [5] Einmahl U, On the almost sure behavior of sums of i.i.d. random variables in Hilbert space, *Ann. Probab.* **19** (1991) 1227–1263
- [6] Erdős P, On a theorem of Hsu and Robbins, *Ann. Math. Statist.* **20** (1949) 286–291
- [7] Erdős P, Remark on my paper “On a theorem of Hsu and Robbins”, *Ann. Math. Statist.* **21** (1950) 138
- [8] Huang W and Zhang L X, Precise rates in the law of the logarithm in the Hilbert space, *J. Math. Anal. Appl.* **304** (2005) 734–758
- [9] Heyde C C, A supplement to the strong law of large numbers, *J. Appl. Probab.* **12** (1975) 173–175
- [10] Hsu P L and Robbins H, Complete convergence and the law of large numbers, *Proc. Nat. Acad. Sci. USA* **33** (1947) 25–31
- [11] Jiang Y and Zhang L X, Precise asymptotics in complete moment convergence of i.i.d. random variables, *Acta Mathematica Scientia* **26A** (2006) 917–925 (in Chinese)
- [12] Li Y X, Precise asymptotics in complete moment convergence of moving-average processes, *Statist. Probab. Lett.* **76** (2006) 1305–1315
- [13] Li Y X and Zhang L X, Complete moment convergence of moving-average processes under dependence assumptions, *Statist. Probab. Lett.* **70** (2004) 191–197
- [14] Wang D C and Su C, Moment complete convergence for B -valued i.i.d. random elements sequence, *Acta Math. Appl. Sinica* **27** (2004) 440–448 (in Chinese)
- [15] Wang Y, Zhong S M and Wang D C, Moment complete convergence for sums of i.i.d. random elements in Banach space, *J. UEST of China* **34** (2005) 410–412 (in Chinese)
- [16] Spitzer F, A combinatorial lemma and its applications to probability theory, *Trans. Amer. Math. Soc.* **82** (1956) 323–339